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| K 4 K mn) | Ao | she RE et Tom %
Abu=y | K AVE | Abeey | RAVE | Abe=2 | W AVE | ARR-2 | KAV
1| KB EF (HEBHLX) 80 19 79 18 76 20 57 76 [78.3 | 80
2 | KE =7 GRS 80 19 81 13 82 16 48 80 |81.0 | 82
3 | e 0% (FEX) 81 16 75 20 88 5 41 75 |81.3 | 88
4 | IINEERT (s .1 81 16 82 8 82 16 40 81 [8L.7 | 82
5 | Ak T Gk X 94 0 78 19 80 19 38 78 [84.0 | 94
6 | AARREE @ X 80 19 82 8 85 10 37 80 |82.3 | 85
T EA-Z= (FHEX) 84 10 81 13 84 12 35 81 [83.0 | 84
8 | R N-SZ R X) 85 8 80 16 85 10 34 80 |83.3 | 8
9 | WHEHT Gk X 85 8 81 13 85 10 31 81 |83.7 | 8
10 | HI EHF (AR X) 85 8 80 16 87 7 31 80 [84.0 | 87
11| A& ¥EFn (LX) 82 13 80 16 89 2 31 80 [83.7 | 89
12 | WA T (FHEX) 83 11 79 18 E Ve 29 79 [81.0 | 83
13 | AR =& (u X) 82 13 82 8 87 7 28 82 |83.7 | 87
14 | FEE#MAT| @ X 89 0 82 8 81 18 26 81 |84.0 | 89
15 | HHTHRT (. X) 84 10 88 0 84 12 22 84 |[85.3 | 88
16 | BAREET (iR IX) 81 16 84 1 88 5 22 81 [84.3 | 88
17 | BB THK (FHER) 76 20 20 76 |76.0 | 76
18 | REIEACH Y| HBHX) 90 0 IR G 81 18 18 81 [85.5 | 90
19 | #iBHH X (&RIX) 88 2 81 13 89 2 17 81 |86.0 | 89
20 | BH KT | GRlrsK) | 88 2 81 13 89 2 17 81 [86.0 | 89
21 | i T (LX) 82 16 16 82 |82.0 | 82
22 | ZHEHET (LX) 93 0 83 13 13 83 |88.0 | 93
23 | B EMH (HERE 1) 87 4 83 4 91 0 8 83 [87.0 | 91
24 | R\ T | &K 93 0 83 4 89 2 6 83 |88.3 | 93
25 | B % GEAX) 85 0 88 5 5 85 |86.5 | 88
26 | BEOERT | EHHIX) 86 5 E Ve 91 0 5 86 |88.5 | 91
27 | MATHT (A 1) 87 4 85 0 91 0 4 85 |87.7 | 91
28 | % T (LX) 83 4 92 0 4 83 [87.5 | 92
29 | Akt = Gt ) 96 0 90 0 89 2 2 89 [91.7 | 96
30 | BHR AT F X 88 2 2 88 |88.0 | 88
31 | EFIEMZE ek X) 90 0 E=Nipe 90 0 0 90 [90.0 | 90
32 | AR BT (HERE ) 98 0 92 0 92 0 0 92 |94.0 | 98
33 | RAFHET Gl %) 90 0 92 0 0 90 [91.0 | 92
34 | KEFFHZE (FHX) 86 0 93 0 0 86 [89.5 | 93
35 | LR W (FLEX) 94 0 88 0 94 0 0 88 [92.0 | 94
6 | 2 RT (HFIEX) 92 0 94 0 0 92 193.0 | 94
37 | IR ek X) 89 0 96 0 94 0 0 89 [93.0 | 96
38 | ik ST (FHIX) 90 0 86 0 96 0 0 86 190.7 | 96
39 | EE 3oT ® X 99 0 97 0 96 0 0 96 |97.3 | 99
1/2R=%




40 | HE &1 (kX)) 103 0 86 0 97 0 0 86 [95.3 | 103
41 | 5 =T (s ) 93 0 87 0 98 0 0 87 92.7 | 98
42 | Y BT (8 5LIX) 99 0 88 0 98 0 0 88 195.0 | 99
43 | & &1 (5 5LIX) 101 0 89 0 98 0 0 89 [96.0 | 101
44 | Wi H®iF CI 95 0 89 0 99 0 0 89 [94.3 | 99
45 | /AR HIE (BT IX) 97 0 99 0 0 97 198.0 | 99
46 | HH FRk | BREr-BK | 90 0 89 0 100 0 0 89 193.0 | 100
17 | &1Lv471 (7 X) 100 0 92 0 105 0 0 92 199.0 | 105
48 | B FOH JB X 95 0 95 0 109 0 0 95 199.7 | 109
49 | =VIERT (FZEX) HHIR S LARYG 0 1000 | - 0
50 | ik BAE (1) 91 0 86 0 0 86 |88.5 | 91
51 | HNET Gk X) 95 0 90 0 0 90 |92.5 | 95
52 | ®EL ST | RLy BK) 90 0 0 90 [90.0 | 90
53 | EiF ET (FEX) HHI R 91 0 0 91 [91.0 | 91
54 | kH R (FBHIX) 91 0 0 91 |91.0 | 91
55 | M HE (A 1X) 94 0 93 0 0 93 |93.5 | 94
56 | JRH HEHT | HHEIIK) 93 0 0 93 193.0 | 93
57 | WEEL T (LX) 94 0 0 94 [94.0 | 94
58 | ARAK HF W X) 95 0 95 0 0 95 [95.0 | 95
59 | B Ea (FBHIX) 95 0 0 95 195.0 | 95
60 | EhfIoIT (BT %) 95 0 0 95 [95.0 | 95
61 | KBy H= (A X)) 94 0 96 0 0 94 [95.0 | 96
62 | gaARFEHK (u X) 93 0 Jetk 0 93 193.0 | 93
63 | M HTET # X) ARG 0 1000 | - 0
64 | T AT Gt ) Y HRY 0 1000 | - 0
65 | BE T (A X) 89 0 IR G 0 89 |89.0 | 89
66 | LM HE+ (u X) 92 0 ERIe 0 92 192.0 | 92
67 | HE  HX (o X) 93 0 Ve 0 93 193.0 | 93
68 | A hX) 95 0 FHIR G 0 95 95.0 | 95
69 | B3 BT (FEX) ERiVe 0 1000 | - 0
0| E T e X) FHIR G 0 1000 | - 0
71| SAREMET | Rty RK) | HAXRYE 0 1000 | - 0
72 | I REA f X) 91 0 89 0 0 89 190.0 | 91
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